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Introduction:

TDD CCTrCH Repetition Lengths need to be calculated as multiple of the largest TTI within the CCTrCH.

Discussion:

In TDD physical channels allocated to a CCTrCH may be configured for discontinuous operation. With this mode of operation the period of contiguous physical radio frame allocations is known as the Repetition Length.

Since TTI TB sets are processed together in advance of transmission and after reception before propagation to higher layers, TTI’s defined for each TrCH are a primary factor for transmission latency. If CCTrCH “repetition” allows idle periods within a TTI, L2 PDU (TB) transmission latency is increased.

It is therefore proposed to define the Repetition Length as a multiple of the largest TTI within the CCTrCH. 
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TDD CCTrCH Repetition Lengths need to be calculated as multiple of the largest TTI within the CCTrCH.
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8.5.7.6.15

Repetition period, Repetition length, Offset

The following description applies to TDD only.
The frame allocation can be derived by following rules:

If no IE "Offset" is explicitely given the parameter "Offset" to be used is calculated by the following equation:


Activation time mod Repetition period = Offset.

Frames from CFN CFNoff to CFNoff + Repetition length belong to the allocation with CFNoff fulfilling the following equation: 


CFNoff mod Repetition period = Offset.
Repetition length is always a multiple of the largest TTI within the CCTrCH  fulfilling the following equation:





(largest TTI within CCTrCH) * X = Repetition Length
Where X is an integer.
Example of usage:
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Figure 54: Examples for frame allocations in TDD

_1016607076.doc


20







30







physic. channel (Code 3; Repetition period=16; Repetition length=3; Activation time = 23 =>Offset = 7 => CFNoff = 7, 23, 39, 55 )







physic. channel (Code 5; Repetition Period=1 => Repetition length=0; Offset = 0 => CFNoff = 0, 1, 2, 3, 4, ... (continuous allocation)) 







0







10







64 frames







Codes







40







50







60







physic. channel (Code 7; Repetition period=8; Repetition length=5; Activation time = 4 => Offset = 4 => CFNoff = 4, 12, 20, 28, 36, 44, 52, 60)












